8.4B Warmup

1. The pH of lemon juice is 2.2, while the pH of coffee is 4.8. How many times more acidic is lemon
juice than coffee?
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2. Solve for B in terms of A and C
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Exponential Equations

Exponential equations which cannot be converted to the same base can be solved by using logarithms.
Express the value of x in terms of logs and as a decimal to 2 decimal places.
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6. How long will it take for money invested at 5% compounded monthly to double in value?
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7. The half-life of plutonium-239 is about 25 000 years. How many years does it take until only 36% of
the plutonium still remains?
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8. It is estimated that 20% of a certain radioactive substance decays in 30 hours. What is the half-life of
the substance? .‘t:\
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